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Directions (1-5): & & a5 arfesr uig fAshamsit garT & &usi (A 3k B) & aff
7§ af3at & FaRor 1 qefidr &5 & Fo vt Mzt § 3R v Rived ot
g. Mfoaf@a Sl & eaeqaes 3reads Hifod iR A BU 1w yeal & 3o}
AR

fQsdar Tl <t TE 3ot TE A:B:, A:B
ufdgt weTar afday (TeATeTST (EHEEG
(% ;ﬁ') mtﬁ:) EI%—*:ﬁ:)
3R 12000 52% 5:8 7:5
Afga 9000 65% 7:6 4:3
AT 7500 60% 11:4 5:3
a9 14000 40% 4:3 3:5
HATY 10500 45% 4:5 7:4

QL. HIfg E@RT &l IS hueil A T For ffoeer ufgal AT ganrT a=if a1 Hu=i B
T TATATT gf2at T Hedr ¥ fhaer gfdea e §7

(a) 35%

(b) 37.5%

(c) 40%

(d) 45%

(e) 50%
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Q2. s IR FAY caRT THATY HUAT B Hr S 7S afzdt fr dear AT @R
I CANT THATY &l A #Y 9t S For ufsAt ¥ e i §2

(a) 900

(b) 850

(c) 800

(d) 750

(e) 700
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Q3. 3T, Afgd AR AT caRT THATY ST 7S FHUAT A I TeATeler ©fShT &
daa e dus IR AT gaRT THErY J99 A FUAr A F TaATAer gfsar Fr
Maa gear & frdelr afas g2

(a) 200

(b) 225

(c) 250

(d) 300

(e) 350
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Q4. 3fAT garr 9t 1S Ul A dr B3fSca afsal i dear ol B ganr <t 13
A YR &1 g9f3a] i g&ar § forasr gfaera s g2

(a) 40%

(b) 66%%

() 335%

(d) 60%

(e) 54§%
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Qs.wﬁmﬁﬁaﬁmwuéiﬁ?éwB@ra@?ﬁ@r?d &7 AT
Hiforr?

(a) 12,760

(b) 11,420

(c) 10,290

(d) 11,920

(e) 11,240
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Directions (6-10): cTfeiehT & drer I3t 1 SIS G&T & IROTAT A, Gedsh 1S & FHol
39Teyd faeafdiat & @ $or 3cchol faegndat & gfderd &1, Fe Scdiol faezdat &
A 3ol osshl & Ffderd ®I duT cdsh 15 A et f1 do qedr @ g
AT | AR H o s oo &, [SeTehl a0lr 9oeT & & 918 Sl & 3HJaR
AT g,

Boards Passed % out of Boys passed% out | Total number of school
appeared of total passed in each state board

U.P. Board 64% — 7500




M.P. Board — 40% 5000
Rajasthan Board — 65% —

Delhi Board 80% — 4500

Bihar Board — 60% —

Q6. G Tl §18 & U+ fdcurerd ¥ 39ReYd g are faeanial & itaa e
360 & TUT FA Scchiol gl arel et & & 66-0 sfrar & a wa Ao
9. §5 # 3ol g ardl Fol ofSehl I T&AT, L. S5 el # 3URYd gle arel
For faeandat i Fear #1 fhda gfaerd g2

1

(a) 235%

(b) 225 %

() 195 %

1

(d) 20 3 %
() 215%
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Q7. e TA.M. &1 & Iccliol g1 are gl T Hel TEAT 4.2 G § AT 30 S A
Fol Seclol gt arel fean¥iat & @ 1, For 3ufeyd gie arel faeanfdiat v dwear
¥ U 7:10 81 o TAW. §18 A A% Taeherd @ 39U gl arel faeznidat
&1 e wEan, g a5 7 gds fachrerd @ 3UTeId gl arel faeanfiat v sitad
el ¥ fhdell & 87 (FU. §15 A 9A« facarerdy @ 3ufeyd g arel faeandat
$r g T Woe 92T F o6l §)

(a) 65

(b) 45

() 50

(d) 60

(e) 55
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Q8. TSTEYTA &I H 3cchol glel dTel ofgehl &I el HEAT 6.825 G § AT TSIEUTT
I8 & 3cciol gl arel faeanfdal & el dean §is & 3ufeyd g arel faezndat
ST HEAT H 70% gl I VU &5 # Tdsh fdedierd @ 3uieyd gl arel
%@ﬁéﬁ@raﬂwmﬁoﬁ,ﬁmaﬁéﬁmﬁ?ﬂ J&IT AT
ffaT

(a) 2570
(b) 2000
(c) 1750




(d) 1950

(e) 2200
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Q9. I el &S A Icchol gt arel Tyt &1 Fof dE&aAT 28.8 oM@ & U1 6
A A 3cdor gl ara oIgehl T el T W,Bﬁﬁﬁﬁmm@r@_o{m
b 3EqaTd 4 1 5 Bl o A HIGA T ool 1S & 3ccdiol gled arell osfehal &1 $er
T, 3URUd g arer et fr For HEar @ s gfawe §2

() 405%

(b) 425 %

(c) 44 %

(d) 385 %

() 465 %
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Q10. Il WeR a3 # 3ufeyd g ardl For TAefdGr 1, 3cchoT g ared FHel
faeanfdat & 3 5:38 U WER TsT A 3ol gled arel ofgehl T el TEAT 9
g ¥ I R a8 & yde ey ¥ 39Ryd g ara faeafiar & siraa
TEIT 800 &, a1 ool Teg SIS & ol fAeFrerdl &1, WeR 15 & For faggrerdt @
3UTe AT AT

(a) 39:25

(b) 37:25

(c)36:29

(d) 36: 25

(e) 25: 36
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Solutions

S1. Ans.(e)
Sol.

Total Digital Watch of company ‘A’ sold by Mohit = 9000 x % X ; = 1800
Total Analog Watch of company ‘B’ sold by Amit = 7500 X 20 w2 =1200

1800-1200 10018
—————x 100 = 50%

o os
Required % = 1700

S2. Ans.(b)
Sol.



Total Watch sold by Deepak & Manish together of company ‘B’

—14000><[ >< 60 5+10500[ +55>< ]
B 100 7 100 8 100 9 100 11

=2400 + 5250 + 2625 + 2100 = 12,375
Total Watch sold by Amit & Deepak together of company A

—7500[ 11 40 5 +14000[ 60 ><3
100 15 100 8 100 100 8

=3300 + 1875 + 3200 + 3150
=11,525

Required difference = 12,375 - 11,525
=850

S3. Ans.(d)
Sol.
Average no. of Analog Watch of company ‘A’ sold by Anurag, Mohit & Amit together

—1[12000><52><5+9000><65><7+7500 60><11
B % 100 13 100 13 100 15
=3 [ 2400 + 3150 + 3300] = 2950

Average no. of Analog Watch of company ‘A’ sold by Deepak & Manish together

—1 14000 40 4 10,500 5 4
—z[ XT00 <77 X100 9

1
=5 [ 3200 + 2100] = 2650
Required difference = 2950 - 2650 =300

S4. Ans.(b)

Sol.

Digital Watch of company ‘A’ sold by Amit
40 5

= 7500)(@)(5— 1875

Digital Watch of company ‘B’ sold by Amit

40 3
= 7500><—><§— 1125

100 875-1125
Required % = =22 x 100 = 66=%
Alternate,
It can be done without solving values (by ratio)
_ 5-3 200
Required % = x 100 = T%
2
= 66 3 %
S5. Ans.(c)
Sol.

Total number of Watch of company B sold by Anurag & Mohit together

12000 >2 8 + 12000 48 > + 9000 X — 65 6 — +9000 x 35 3
= X——X— X——X— — X =
100 13 100 12 100 13 100 7

= 3840 + 2400 + 2700 + 1350 = 10,290

S6. Ans.(e)
Sol.



Total students appeared in U.P. board exam
=360 x 7500
=27 lakh
100 1

Total passed boys in U.P board = 27 X LRV v
100~ 3 7 100
= 5.76 lakh
. 5.76
Required% = 7 X 100

1
—215%

S7. Ans.(d)
Sol.
Total number of passed students in M.P. board

= 10.5 lakh

Total students appeared in M.P. board

=£’5><10
7

=15 lakh

Average students appeared from each school in M.P. board
15 lakh

Required difference
=360-300
= 60 students

S8. Ans.(b)
Sol.

Total passed students in Rajasthan Board exam
6.825

=——x 100
65
=10.5 lakh
Total appeared students in Rajasthan board = %’)5 x 100

=15 lakh

_ . 5 lakh
Total number of schools in Rajasthan board = L 7530

= 2000

S9. Ans.(c)
Sol.

Total students appeared in Delhi state board= % x 100
=36 lakh

_ 28.8x2

Required% = ” 2% 100
=% 100

36,
— -0
= 447%
S10. Ans.(d)
Sol.
Total passed students in Bihar board = 2lakh 100

60



=15 lakh
Total appeared students in Bihar board = 13—5 X5
= 25 lakh

_ _ 4500

Required Ratio = 17
800

4500

3125

=36:25



